1. Endogenous Probit

1.0.1. The model

v =I(v; + 27 B+ ¢; > 0) (1.1)
z; = (215, Uai) (1.2)
Yoi = 2 T+ (1.3)

where §1. are the fitted values from the instrument equation, 71, = z7 L.

1.0.2. Variance-covariance matrix

- b2 b3byby
Yiew = l babiby B2 (1.4)

1.0.3. The endogenous probit log-likelihood function
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f(u) is density of w. In the program v; + x! 3 is Ib. After substitutions the
endogenous log-likelihood function becomes:
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To ensure positive definiteness, X, is coded as:
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The MAXLIK routine in GAUSS returns estimates and standard errors of a..as,
not by..bs.

2. Endogenous Sample Selection

2.0.4. The model

di = I(v; + 2] 6 +¢;) > 0) (2.1)
Y1 = (37;[ﬂ +)d; (2.2)

v = (21 ) (23)

Yoi =2 L+ (2.4)

where 72 are the fitted values from the instrument equation, 71, = zZTf‘

2.0.5. Variance-covariance matrices

Vo bebabs bebibs 2 bbb
Teew= | bbabs b babiby |, Tew = [ bbby 0 3]

beb1bs bybiby b2



2.0.6. Endogenous Sample Selection Log-Likelihood Function
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In the program v;+z7 6 is Ib. The endogenous log-likelihood function becomes:
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To ensure positive definiteness, X,.,, is parameterized as PP :
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The coded log-likelihood function becomes:
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The MAXLIK routine in GAUSS returns estimates and standard errors of a;..as,
not by..bs.



3. Exogenous Sample Selection (Heckman Selection)

3.0.7. The model

Y = (] B+ &;)d; (3.2)

3.1. Variance-covariance matrix
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3.2. Exogenous Sample Selection Log-likelihood Function
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In terms of the parameterized X.., the log-likelihood function becomes:
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(3.6)
The MAXLIK routine in GAUSS returns estimates and standard errors of ai.as,
not b4-b6-



4. Equations referenced in estsel.src, est.src, sord.src, and

sordsel.src.

4.1. Binary choice estimators (est.src and sord.src)
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4.2. Sample selection estimators (estsel.src and sordsel.src)
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